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PART A. Each of the following sentence contains an incorrect word, write the
correct one in the answer sheet. (40%)

"""""""""" Example:  Be sure and sign your name at the bottom of the page. to

1. The president of the company keeps her appointments irregardless of her level of
fatigue.

[

Greg obviously cannot cope with the every day problems of his job.
---------- 3. 1 guess that we shouldn’t spend more than a forth of our capital on these
improvement.
4. Jameson will retain his position weather or not Williams agrees.
5. Please council Hansen regarding her contract negotiation.
6. The personal department will only have one week to find a party to fill the
vacancy.
7. Theses new business forms are slightly different than the old ones.
e — 8. When everybody is in their assigned place, the meeting will begin.
The much discussed showdown between Cummings and Poe may never take
place.

10. Mr. Johnsons’ oral business presentation was favorably received.

........... PART B. Each of the following sentence contains two or more expressions that
would be inappropriate in a business communication. Rewrite each
sentence in an acceptable form. (30%)

1. The reason we called is because we are ready to go forward with the Ampeck

T dCﬂ]‘

2. Mr. Henshaw is really sorry that he did not phone you this morning, but he only
got your message a few minutes ago.

3. Irregardless of his advise [ will try and repair the engine myself.

4. 1expect that International Paper would of delivered the 1,200 boxes of stationary
before the 30™,

5. There have been less breakdowns this month than past, which pleases our

production supervisor.
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PART C. Fill the blanks in each of the fol lowing passages by choosing the best
answers from the options. (30%)
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Passage |: ‘

Deciding what to believe in advertising isn’t easy. It__1 to me that a person must ‘

purchase things__ 2 alot of care. Asa consumer, I want to get the best for my
money. But I really have to understand the 3 of advertising. 4

manufacturers will be able to sell me anything,no_ 5 what its quality maybe.- L.
More and more people are becoming_ 6 like me, of the ways in which advertising
can_ 7 _them. The creative aspects of commercials, for instance, often cover §

________ : defects or problems in products. I have learned this well, sinceI__ 9  purchase and
lost money because the items_ 10 of poor quality.

Options: st
1. (A)looks (B) seems (C) bothers (D) links

------ = 2. (A)in (B) at (C) for (D) with Wy
3. (A)aims (B) goal (C) techniques (D) function
4. (A) Similarly (B) Otherwise (C) Frankly (D) Consequently
5. (A) matter (B) way (C) trouble (D) count
6.

(C) understand (D) considerate

7. (A) effect (B) inflect (C) elude (D) affect
8. (A)down (B) up (C) on (D) of
9. (A) have made (B) have been made
(C) have done (D) have been doing
10. (A) are being (B) are (C) were (D) being Ll
Passage 2:

— ~ The price of energy should not be controlled by the government. Because our natural
resources are being depleted, companies must be encouraged to develop new sources
of power. Industry operates on the profit motive; 1 . government restrictions on
prices would only serve to block research. Furthermore, the costs of running a

(A) conscious  B) conscientious !
|

corporation have risen___ 2 laws requiring clean-up programs; 3 | many
firms will be shut down 4 they are not allowed to charge the highest prices that
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the market will allow. Government regulation of pricesinan__ 5 o progress.

Options:

1. (A) therefore (B) so that (C) because (D) for example

2. (A) because (B) when (C) because of (D) while

3. (A) so that (B)asaresult (C) because (D) for instance

4. (A) although (B) after (C) so (D) if i 55|
5. (A) obstacle (B) odds (C) overcome (D) difficulty
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